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QUESTION 1

Which protocol is presented by "B" in the exhibit? 

A. FC 

B. iSCSI 

C. FCoE 

D. IPFC 

Correct Answer: A 

 

QUESTION 2

A company has deployed a VPLEX Metro protecting two applications without Cluster Witness: 

-App1 distributed virtual volumes are added to CG1, which has detach-rule set cluster-1 as winner -App2 distributed
virtual volumes are added to CG2, which has detach-rule set cluster-2 as winner What should be the consequence if
there is a WAN COM failure for an extended period? 

A. I/O for CG1 is suspended at cluster -1; I/O is serviced at cluster-2 I/O for CG2 is serviced at cluster -1; I/O is
suspended at cluster-2 

B. I/O for CG1 is suspended at cluster -1; I/O is serviced at cluster-2 I/O for CG2 is serviced at cluster -2; I/O is
suspended at cluster-1 

C. I/O for CG1 is detached at cluster -1; I/O is serviced at cluster-2 I/O for CG2 is detached at cluster -2; I/O is serviced
at cluster-1 

E20-562 PDF Dumps | E20-562 Practice Test | E20-562 Exam Questions                                2 / 4

https://www.geekcert.com/e20-562.html
https://www.geekcert.com/e20-562.html
https://www.geekcert.com/e20-562.html


https://www.geekcert.com/e20-562.html
2024 Latest geekcert E20-562 PDF and VCE dumps Download

D. I/O for CG1 is serviced at cluster -1; I/O is suspended at cluster-2 I/O is serviced for CG2 at cluster -2; I/O is
suspended at cluster-1 

Correct Answer: C 

 

QUESTION 3

Which type of mobility is used to move data to a remote cluster in a VPLEX Metro? 

A. Device 

B. Extent 

C. MetroPoint 

D. Virtual volume 

Correct Answer: B 

 

QUESTION 4

When using VPLEX Metro, what is the supported round trip time between clusters? 

A. 5 ms 

B. 15 ms 

C. 20 ms 

D. 30 ms 

Correct Answer: A 

 

QUESTION 5

When is expanding a virtual volume using the Storage Volume expansion method a valid option? 

A. Virtual volume previously expanded by adding extents or devices 

B. Virtual volume is mapped 1:1 to the underlying storage volume 

C. Virtual volume is a metadata volume 

D. Virtual volume has minor problems, as reported by health-check 

Correct Answer: B 

Reference:https://logicalblock.wordpress.com/2014/01/28/how-to-expanding-vplex-virtual-volumes/ 
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